NISR
Python %Egi >>> file = 'urbanpop.xlsx' >>> import pickle
. — >>> data = pd.ExcelFile (file) >>> with open('pickled fruit.pkl', 'rb') as file:
E‘I 7;';&1:% >>> df sheet2 = data.parse('1960-1966", pickled data = pickle.load (file)
skiprows=[0],
names=['Country',

'"AAM: War (2002)'])
>>> df sheetl = data.parse(0, HDF5 Yﬁ:
o parse_cols=[0],
A Python SNEUE skiprows=[0], >>> import h5py

names=['Country']) >>> filename = 'H-H1 LOSC 4 v1-815411200-4096.hdf5"'

j(%%ﬂ%}ﬁ—l(, %B)‘-E'Eﬁﬁ Numpy EJZ Pandas %}\%ﬂﬁo S ash P >>> data = hbpy.File (filename, 'r')
sheet_names/@£isia i

>>> import numpy as np >>> data.sheet names l
>>> import pandas as pd I Matlab X1

N SAS Xﬁ: >>> import scipy.io
JERER °

>>> filename = 'workspace.mat'
>>> from sas7bdat import SAS7BDAT >>> mat = scipy.io.loadmat (filename)
>>> with SAS7BDAT ('urbanpop.sas7bdat') as file:

df sas = file.to data frame()

>>> np.info(np.ndarray.dtype)
>>> help (pd.read_csv)

XA

B RO R R TT R

4
AL A A l>>> data = pd.read stata('urbanpop.dta') >>> print (mat.keys()) MHFHARE (Key)
: . L 2
>>> filename = 'huck finn.txt' . >>> for k:ginlt“(]?ea;)a'keys()' HTHARE (Key)
>>> file = open (filename, mode='r") AR5 A T IRE
>>> text = file.read() B RS %%ﬁ!?ﬁ%}'ﬁj{# mi;iit
>>> print (file.closed) iﬁ%}i%ﬁegéilﬂ - o - . - . :trainy
S>> file.close () 5 >>> from sqlalchemy import create engine : EE
; . _ . ' te://N hwind.sqglite' >>> pickled data.values() J&@—?—,_\E"Jfﬁ
>>> print (text) >>> engine = create engine('sqlite://Northwind.sqlite') >>> print (mat.items ()) IR[E R oA A F B ERT TR
/8 table_names() 77ERELR R 5K

fEH EFICEESE with

— —Srene-cen
>>> with open('huck finn.txt', 'r') as file: I ab-€_names engine.table names () l ﬁﬂfEﬂﬂEJF&?E

(
int (file. dli SEN—1T S - —
Print (file. rendline ) AR B XATEIRERE >>> for key in data ['meta'].keys () 1R HDF5 MyghHty
print (file.readline()) . .prlnt(key)
>>> con = engine.connect () Description
3 >>> rs = con.execute ("SELECT * FROM Orders") DescriptionURL
ﬁ%?&?& S'UIKS'U# >>> df = pd.DataFrame (rs.fetchall()) Detectl:or
>>> df.columns = rs.keys/() Duration
>>> con.close () GPSstart
}EH Numpy -%AYZK;\{#F Observatory
1 A E T EESE with Type
i&;&%ix#': >>> with engine.connect() as con UTCstart
i = i ’ . : : il il ' : : "1 .val =) AN 3 A
iii glinarjen lglgcli‘ii‘.ct(;{iiename rs = con.execute ("SELECT OrderID FROM Orders") >>> print (data['meta'] ['Description'].value) RERFMRIMAYE
ata = np. delimit:er=' | BFsaEsEn=s df = pd.DataFrame (rs.fetchmany (size=5))
! M RATRN =L = - f.col = rs.k o
skiprows=2, ?;Kflﬁuﬁﬁ df.columns rs.keys () **%Y#F?ﬁgﬁ
usecols=[0,2], | REVFHERE1FIMEIT

dtype=str) EAMEIELE fEAPandas &< R EHUIERE S
ZEARIEI |

l>>> df = pd.read sql query("SELECT * FROM Orders", engine)

>>> filename = 'titanic.csx{' ;iz ggg%%?’gg;iﬁy#%
vo7 date T onp.gentromtxt(fienane L e tpwd EELHTFERMEE
names=True, SENRERTIG =
dtype=None) Numpy 48
I>>> data_array = np.recfromcsv (filename) l >>> data array.dtype BEMATENEIRLER >>> import os
np.recfromcsv() E#X# dtype BIAME None. s Ton (Gata arrany SRmaes 3y B re a5 AN TR RENTES
_ y) TEHAEKE O EN SR
- >>> os.listdir (wd) BERENABTHENTIR
J==| Pandas x—r)\Y$3UfF = >>> os.chdir (path) T YUFINITIEER
: : Pandas #4EHE >>> os.rename ("testl.txt", | B@MBAXH
>>> filename = 'w1nequav11tyfred.csv' RIS 11T, BAR5T "test2.txt")
>>> data = pd.read csv(filename, >>> df.head () VB L1T, #AIN7IOTT >>> os.remove ("testl.txt") | IBREIE XM
nrows=5, IEENITEL >>> df.tail () HEEEENET, BRIAAST Lr (" iy
header=None, %ﬂ}jﬁ—%—ﬁaﬁjg >>> df.index EE;&?E’EE@%% o>> os.mkdir (Thewd it SIS
sep="\t' Fﬁzj:ﬁﬂ;%ﬁuag?g >>> df.columns EE%;EEE;H%PQ
comment="4#", AFPEEBRNFER >>> df.info () = JES
na_values=[""]) | {£EXHY, Il}]lllt:t{éﬁ\jNA/NaN >>> data_array = data.values BRI Numpy #4H EX{’E% LearnRfoE)?tEch:::‘IReractively
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J 24 HllzR 205 Numpy #H
Python #iERF F&X oy
>>> a = 'is' SAE pandas iyl .g"
Python £} >>> b = 'nice’ >>> import numpy s UETS
>>> my list = ['my', 'list', a, b] >>> import numpy as np
>>> my list2 = [[4,5,6,7], [3,4,5,6]] SNIEEIEE NumPy % matplotlib
. - >>> from math import pi Rlite —HE
T B S A IR PEEFIRTE %3/ 850 S— -

T EE—

=R o TERRS| I NAME )
>>> my list[1] EER JRZHY PR ®

o> x=5 o> my 1ist(-3] PR3 23 R A AW, N

>;> x IR LT Jupyter
>>> my list[1:3] EERFRS| LA12S R A & .

TEItE >>> my list[1:] EERERE |02 fE3 RIEME ANACONDA Spyder ®
>>> my list[:3] EEVER 5|32 AIX R A (B Python BENEFREIERIZTE Anaconda tlEaaNE. AIRE

>>> x+2 il >>> my 1ist[:] SH5IR RER%ZEIDE SN e ]

; _

‘ FEHIRNFIR

>>> x-2 V1 '
>>> my 1ist2[1][0] st Tlictlli i ™ 3

5 y . 5> my list2[1][:2] my_list[list][itemOfList] Numpy *40 25 Bl

>1>0> x ETTe >>> my list = [1, 2, 3, 4]

S>> x**D = 5 2 >>> my array = np.array(my list)

25 >>> my list + my list >>> my 2darray = np.array([[1,2,3],[4,5,6]1)

Sl o T e

i o> my 1ist * 2 EEY Numpy #EERIE R515F0

>>> x/float (2) 53 ['my', 'list', 'is', 'nice', 'my', 'list', 'is', 'nice'] FE&E

2.5 >>> my list2 > 4 >>> my array[1l] RRRS| I NAE

2

l)a)
>>> my array[0:2]

lI'rue

FIRFGE

KA G ARG

||:
H_‘

EERRS0M 1M BE

str() 51, '3.45', 'True' | EATHR
>>> my list.index(a) REVEENRE ST array([1, 2])
int () 5, 3, 1 e >>> my list.count (a) EEHIAREEMN 4 Numpy AT &
>>> my list.append('!") HE >>> my_z2darray[:,0] my_2darraylrows, columns]
float () 5.0, 1.0 BE ST K >>> my list.remove('!") BrREE array ([1, 4])
>>> del (my_list[0:1]) BIRE
bool () True, True, True R HIR(E >>> my_list.reverse () RFeHIR >>> my array > 3
>>> my list.extend('!") RINFEE array ([False, False, False, True], dtype=bool)
>>> my list.pop(-1) BIREE >>> my array * 2
>>> my list.insert(0,"!") HAFEE array([2, 4, 6, 8])
>>> help(str) >>> my_list.sort() SIRHAR >>> my array + np.array([5, 6, 7, 8])

array([6, 8, 10, 12])

hg = tniestri
>>> my_str}ng = 'thisStringIsAwesome' SRR ZE|1BF0 py
>>> my string >>> my array.shape FREVERABTZAR
'thisStringIsAwesome' >>> my_string[3] >>> np.append(other_array) 1BINEGE
= >>> my string[4:9] >>> np.insert (my array, 1, 5) {HA\¥iR

> s L e erere tmyarray, (1]) | Bosis
>>> my string * 2 FRIEBT A >>> np.mean (my array) TH(E

‘thisSEringIsAwesomethisStringIsAwesome' >>> my_string.upper () "AREFH >>> np.median(my_array) FR{I$
>>> my string + 'Innit' >>> my_string.lower () ’NNEFRF >>> my_array.corrcoef () HEXRE

‘thisSEringIsAwesomeInnit' >>> my string.count ('w') FiTEFRHIBREL >>> np.std(my_array) IREE
>>> 'm' in my string >>> my string.replace('e', 'i') | BFR

True N >>> my string.strip() BT BT EE DataCamp
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LYo IRkernel lulia
L& Jupyter Y= BEIREE IPython A%
R17/ N BEAE . [ e ] P
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Python BiERIFE F&FK

. Matplotlib LEIREZA SR
Matplotlib i i A ya—
Lessr 2 opmy Sem 4oeves ODesar O =rEw
>>> import matplotlib.pyplot as plt
>>> x = [1,2,3,4]
>>> y = [10,20,25,30]
>>> fig = plt.figure () <@SEEN
Figure >>> ax = fig.add_subplot (111) <EITEDN
>>> ax.plot(x, y, color='lightblue', linewidth=3)<EEEND

>>> ax.scatter([2,4,6],

[5,15,25],

color='darkgreen',

marker='"")
>>> ax.set_xlim(l, 6.5)

Matplotlib

Matplotlib 2 Python 4B EE, AFEMFSHRRES

BTAaREFMENEXER. 7
# matplotlib
>>> plt.savefig('foo.png')

: >>> plt.show ()
(1) ez 58 35 NumPy picisho

e 4eeyepe ]

>>> import numpy as np m £ E s Khyesh s O
>>> x = np.linspace (0, 10, 100) e Bxoarx HEHS
>>> y = np.cos(x) >>> plt.plot(x, x, x, x**2, x, x**3) [>>> plt.title(r'$signa i=15$', fontsize=20) |
>>> z = np.sin(x) >>> ax.plot(x, y, alpha = 0.4) —_" f.ﬁj 1]* ?ﬁ)%

. >>> ax.plot(x, y, c='k') R~ BE | §I | =
:,E%UEEEH‘ >>> fig.colorbar (im, orientation='horizontal') .

>>> im = ax.imshow (img, R—J—BE%Jlﬁgr\blﬂﬁﬁz
>>> data = 2 * np.random.random( (10, 10)) ='seismic') = o
cmap="'seismic x.margins (x=0.0,y=0.1) ARINAAEE

>>> data2 = 3 * np.random.random( (10, 1(?)) >>> ax.axis ('equal') ﬁ.ﬁ;g}\ﬁtb =]
027 Lo X 7 mpomorid(£3:3:1003, -3:3:1003) s} >>> ax.set (x1im=[0,10.5],ylim=[-1.5,1.5]) Elioy B

= -1 - : ! g
oo V= 1 4 % - geen 5> fig, ax = plt.subplots() >>> ax.set_x1im(0,10.5) BB IR
>>> from matplotlib.cbook import get_ sample_data >>> ax.scatter (x,y,marker=".") Ef [Rp——— —
>>> img = np.load(get sample data('axes grid/bivariate normal.npy')) >>> ax.plot (x,y,marker="o") >>> ax.set (title='An Example Axes', RERESX, YIRS

ylabel='Y-Axis"',
L7 xlabel="X-Axis")
4o = 22 >>> ax.legend (loc='best") BhiERRENEGGIE
= - >>> plt.plot(x,y,linewidth=4.0) RiE =3 2R
l>>> import matplotlib.pyplot as plt l >>> plt.plot(x,y,ls="solid") >>> ax.xaxis.set (ticks=range(1,5), FanREXHAIE

>>> plt.plot(x,y,1ls="--") ticklabels=[3,100,-12, "foo"])

A A 12 S LA >>> ax.tick_parans (axis='y', REVHKESHH

f Toon 0 .setp(lines,color="r',linewidth=4.0) direction='inout',
>>> fig = plt.figure — length=10)
>>> fig2 = plt.figure (figsize=plt.figaspect (2.0)) j{Z’K’%*,‘_ﬁ;I FEEE
MAAS >>> ax.text (1 >>> fig3.subplots_adjust (wspace=0.5, BEFEEE
AR AT 21

hspace=0.3,

-1,
! ! -
ERLUARHAZOEHE, ASHIERT, FERIUAESE B P P A Sehespie
yle='italic') right=0.9,

Ko FEIZMIERFRI LIRS >>> ax.annotate ("Sine", top=0.9,
>>> fig.add axes () xy=(8, 0), o bottom=0.1)
>>> axl = fig.add _subplot (221) # row-col-num zgggiizs&édgtaé; >>> fig.tight layout () WEERNTERR

. T . r r — s, N
>>> ax3 = fig.add subplot (212) textcoords='data’, ARAREINLL
>>> fig3, axes = plt.subplots (nrows=2,ncols=2) arrowprops=dict (arrowstyle="->", >>> axl.spines['top'].set visible (False) (S AN i
>>> figd, axes2 = plt.subplots(ncols=3) connectionstyle="arc3"),) | >>> axl.spines['bottom'].set_position(('outward',10)) &EFREENLNIENoutward

S e
T REEH

>>> plt.savefig('foo.png')

>>> fig, ax = plt.subplots () >>> axes[0,1].arrow(0,0,0.5,0.5) A FRER AN ET Sk s —
>>> lines = ax.plot (x,y) AL SiTioEES >>> axes[1l,1].quiver (y,z) ZHEETK T%ﬁﬁﬁﬁﬁﬁﬁ , , o
>>> ax.scatter (x,y) iﬁmjg@;ﬁﬁg =5 >>> axes[0,1].streamplot (X,Y,U,V) | &S >>> plt.savefig('foo.png', transparent=Truc)
>>> axes[0,0].bar ([1,2,3],(3,4,5]) |LHIEFHNEER
>>> axes[1,0].barh([0.5,1,2.5],(0,1,2]) | L%I%E = A%ER 2R
>>> axes[1,1].axhline(0.45) ggﬁugﬁzpﬁggﬁfig BEST BRER
>>> axes[0,1].axvline (0.65) ion| SihE E IR >>> axl.hist (y) BHE 5>> plt.show ()
>>> ax.fill(x,y,color="blue") LEIEZEZI0 >>> ax3.boxplot (y) e p-t-
>>> ax.fill_between (x,y,color="yellow') | {E7syfEF102 8] >>> ax3.violinplot (z) IVREE]
:ﬁ%ﬁ%ﬁi)—# >>> plt.cla() A RRAATE
>>> fig, ax = plt.subplots () >>> axes2[0] .pcolor (data2) AP ER SSs plt.Cl? Bix
>>> im = ax.imshow (img, Tk 4 — o . plt.clf() BERRER
cndp-"gist _earch’, BRRARGEAA >>> gxes2l0].polormesh(data) | —guipmg Ly e >>> plt.close () %HED
‘J;Ix;ti:sfpglatlonfnearest', >>> axes2[2].contourf (datal) Eas%E
5 2[2]= ax.clabel (CS s
vmax=2) P>> axes2[2]= ax.clabel (C5) FHLERE Learn Python for Data Science
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PythonBuERlF F&FH

(3 ) @mseabornie®d
S

Seaborn

>>>
>>>
>>>
>>>

>>>

>>>

h = sns.PairGrid(iris)
h = h.map (plt.scatter)
sns.pairplot (iris)
i = sns.JointGrid (x="x",
y="y",
data=data)
i = i.plot(sns.regplot,
sns.distplot)
sns.jointplot ("sepal length",

"sepal width",
data=iris,
kind='kde")

LomRIEEYY X R A FEIMA
LRI L 2 5D
RHINEEE RN R L 2 EME

LFINEEDH

>>> g = sns.FacetGrid (titanic, SLHEISZ X RN T EME
col="survived",
row="sex")
>>> g = g.map (plt.hist, "age")
>>> sns.factorplot (x="pclass", EOEMIE 4519 XKE
y="survived",
A Seaborn &5 B IR AT hue=sex’,
data=titanic) A )
>>> sns.lmplot (x="sepal width", LLHIERE S IS BV AR S O] IR R
Seaborn 2&F matplotlib FF ARSI Python #IERTNEE, y="sepal length",
BT AHINH. ENHFHET. hue="species”,
data=iris)
ZREW
ERATHSIESNZE: S
>>> import matplotlib.pyplot as plt >>>m;:ns.stripplot(x="species", EPARTENTHSE
>>> import seaborn as sns y="petal length",
. data=iris)
{#H Seaborn RIEZEFHNERTE: >>> sns.swarmplot (x="species", REB R SE
1 AERE Z:tze‘lca};_)length ,
N — =iri
2R EBTRIMI KWE
3.f£ Seaborn 4£E >>> sns.barplot (x="sex", BEEE RS
4. BEXER y="survived”, ERRETENEERE
hue="class",
- - data=titanic)
>>> import matplotlib.pyplot as plt HEE
>>> import seaborn as sns 5> sns.countplot (x="deck" BN E
>>> tips = sns.load dataset ("tips") 5 : data=titar,1ic
>>> sns.set style("whitegrid") !
— alette="Greens d"
>>> g = sns.lmplot (x="tip", L 237 ] HE P -~
§="tot§libill", >I>“>‘\sns pointplot (x="class" BERE
ata=tips . = , i getymn NN
pere s . y="survived”, ErRREitfEEXKE
>>> g = (g.set_axis_labels("Tip","Total bill(USD)"). hue="sex",
set (x1im=(0,10),ylim=(0,100))) - data=titanic, =
>>> plt.title("title") palette—{"rgzr}lzlé"?"%"}
>>> plt.show(g) <€ED markers—["A", "on], !
’ ’
linestyles=["-","-="1)
: SR
?ﬂ?& 2 Iﬁl’i']ﬁ\ Numpy & Pandas >>> sns.boxplot (x="alive", T E
y="age",
>>> import pandas as pd hue="adult _male",
>>> import numpy as np data=titanic)
>>> uniform data = np.random.rand(10, 12) >>> sns.boxplot (data=iris,orient="h") EARRIENELE
>>> data = pd.DataFrame ({'x':np.arange(1,101), sxzm
'y':np.random.normal (0,4,100) }) MEEE N
o . >>> sns.violinplot (x="age", ESE
Seaborn {2t T REBEUIEE: y="sex",
>>> titanic = sns.load dataset("titanic") hue="51‘1rvi\‘/ed",
>>> iris = sns.load dataset("iris") data=titanic)
(2) &b 218 Matplotlib
_ B
= i i = & 3 ST n
l>>> f, ax = plt.subplots (figsize=(5,6)) [ﬁu}é@ﬁﬁ—%? >>> sns.set_context ("talk") BLETOEE R "talk
>>> sns.set_context ("notebook", BLETOEER
Seaborn #3t font scale=1.5, "notebook", FHFK, B
N N rc={"lines.linewidth":2.5}) %%ﬁgﬂ%
>>> sns.set () o RENEE Seaborn BINE g
>>> sns.set style("whitegrid") . PN iR
- Wit IR E matplotlib 24
>>> sns.set style("ticks", R
N {"xtick.major.size":8, >>> sns.set palette("husl", 3) EXIEJEW/( . .
nytick.major.size":8}) >>> sns.color palette("husl") A with IEFHR EIR SR
>>> sns.axes style ("whitegrid") N P S < B >>> flatui = ["#9}:159}:16","#3498db","#95a5i36",:'#e74c3c","#344956","#26cc71"]
-ty EESHFARAwithiZE IR J20 sns.set palette (flatui) SEIEER

>>> sns.regplot (x="sepal_width",
y="sepal length",

data=iris,
ax=ax)

SH S ERIEEIN SRR

>>> plot =

sns.distplot (data.y,

kde=ralse,
color="b")

SLHIPTENH

¥EPEE

|>>> sns.heatmap (uniform data,vmin=0, vmax=1) ‘ M ‘

9 REE BN

>>> plt.title ("2 Title") ARINER AT

>>> plt.ylabel ("Survived") ﬂ%]ﬁy’iﬂiﬁ?ﬁ

>>> plt.xlabel ("Sex") JAEEX IR

>>> plt.ylim(0,100) TRRy IR

>>> plt.x1im(0,10) AR PR

>>> plt.setp(ax,yticks=[0,5]) | EREFEM

>>> plt.tight layout () BEEFE B

@ ERAREE 20 Matplotlib
>>> plt.show () 2RER
>>> plt.savefig ("foo.png") BEfRRENER
>>> plt.savefig ("foo.png", 1R171BBRE R
transparent=Truec)

Z5 Matplotlib

>>> g.despine (left="True) BIRAIE
>>> g.set_ylabels ("Survived") 18 B YIRS
>>> g.set xticklabels (rotation=45) REXHZIEIRE
>>> g.set axis labels("Survived", | IREBLIFHITE
"Sexm)
>>> h.set (xlim=(0,5), REBEXS YRR REIFIZIE
ylim=(0,5),
xticks=[0,2.5,5],
yticks=[0,2.5,5])

XA 5B

25 Matplotlib

>>> plt.cla()
>>> plt.clf ()
>>> plt.close()

EPRAATTRA
BRER

KHAENQ

RX{FE
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Bokeh

£/ Bokeh

Bokeh & Python MR EXAIMIERE, AFEMENEEER
THAMREIEES L RE R E,

&

Bokeh #yrhiE] 2@ bokeh.plotting RE X BN MAM:
HiBS BN,

BSATIE
>>> pl.circle(np.array([1,2,3]), np.array([3,2,11),
fill color="white')

>>> p2.square(np.array([1.5,3.5,5.5]),

SLEERT
>>> pl.line([1,2,3,4], [3,4,5,6], line width=2)
>>> p2.multi_line (pd.DataFrame ([[1,2,3],[5,6,711),
[

pd.DataFrame ([[3,4,51,(3,2,111),
color="blue")

il

[1,4,3],

25 BiE

ERfFEES Rt

>>> p = figure(tools='box select')

>>> p.circle('mpg', 'cyl', source=cds_df,
selection_color='red',
nonselection_alpha=0.1)

| ]| ] .
— g SLERME
= e P =T >>> from bokeh.models import HoverTool
HE BT B >>> hover = HoverTool (tooltips=None,
mode='vline') >>> p3.add_tools (hover)
fF bokeh.plotting REAEMERSEN:
=
1. SR B >>> from bokeh.models import CategoricalColorMapper
Python%lzk. Numpy#i4H. Pandas#iBERHEFTIE 0 >>> color_mapper = CategoricalColorMapper (
2. BIEER factors=['US', 'Asia', 'Europe'],
5 S lette=['blue', 'red', 'green'
3. NEUERIERE, BEXETME parestenloiuel, red!, Tgreen’ )
o N >>> p3.circle('mpg', 'cyl', source=cds df,
4. BRI A color=dict (field='origin',
5. ETMESREFELER transform=color mapper),
legend="'0Origin')
>>> from bokeh.plotting import figure -
>>> from bokeh.io import output file, show 15'”17%
>>> x = (1, 2, 3, 4, 5] _gemy —
>>>y =16, 7, 2, 4, 5] LEIXAER
>>> p = figure (title="simple line example", <@ETED >>> p.legend.location = 'bottom left'
x_axis_label='x"', e EX MR

y_axis_label='y")
>>> p.line(x, y, legend="Temp.", line width=2)

>>> output_file("lines.html") <@SETED
>>> show (p) <@EEIED

0 iR Z5%IER. Numpy & Pandas
BE, BokehfTEa&IBHIRHRIRNFIEIRR, T WA Fapikif:

>>> import numpy as np
>>> import pandas as pd
>>> df = pd.DataFrame (np.array([[33.9,4,65,
[32.4,4,66,
[21.4,4,109,
columns=['mpg', 'cyl',
index=['Toyota',

'us'],
'Asia']l,
'"Europe']])
'hp', 'origin'
'Fiat', 'Volvo'l])

1,

>>> from bokeh.models import ColumnDataSource
>>> cds_df = ColumnDataSource (df)

>>> from bokeh.plotting import figure

>>> pl = figure(plot_width=300, tools='pan,box zoom')

>>> p2 = figure(plot_width=300, plot height=300,
x_range=(0, 8), y range=(0, 8))

p3 = figure()

>>> from bokeh.models import Legend
>>> rl = p2.asterisk(np.array([1,2,3]),

>>> r2 = p2.line([1,2,3,4], [3,4,5,6])

>>> legend = Legend(items=[("One" , [pl, rl]), ("Two", [r2])],
location=(0, =-30))

>>> p.add_ layout (legend, 'right')

np.array([3,2,1])

Bl 7316

>>> p.legend.orientation = "horizontal"
>>> p.legend.orientation = "vertical"

EfE R 5101E

>>> p.legend.border_ line color = "navy"
>>> p.legend.background fill color = "white"

1751765

>>> from bokeh.layouts import row
>>> layout = row(pl,p2,p3)

>>> from bokeh.layouts import columns
>>> layout = column(pl,p2,p3)
[HE

>>>layout = row(column(pl,p2), p3)

9 SRR 5 7 AT

W& E

>>> from bokeh.layouts import gridplot

>>> rowl = [pl,p2]

>>> row2 = [p3]

>>> layout = gridplot ([[pl,p2], [p3]1])

Xl

>>> from bokeh.models.widgets import Panel, Tabs
>>> tabl = Panel(child=pl, title="tabl")

>>> tab2 = Panel (child=p2, title="tab2")

>>> layout = Tabs (tabs=[tabl, tab2])

HHEE
HEIR AT A

>>> p2.x_range = pl.x_range
>>> p2.y range = pl.y_ range
SR

>>> p4 = figure (plot_width = 100,
tools='box_select,lasso_select')

>>> pd.circle('mpg’, 'cyl', source=cds_df)

>>> p5 = figure (plot_width = 200,

tools='box_select,lasso_select')

>>> p5.circle ('mpg', 'hp', source=cds_df)

>>> layout = row(p4,p5)

(4 ) snit55
(Notebook ______________

>>> from bokeh.io import output notebook,
>>> output notebook ()

show

HTML

BEAHTML

>>> from bokeh.embed import file html
>>> from bokeh.resources import CDN
>>> html = file html(p, CDN, "my plot")

>>> from bokeh.io import output file, show
>>> output file('my bar chart.html', mode='cdn'")

Bt
>>> from bokeh.embed import components
>>> script, div = components (p)

PNG

>>> from bokeh.io import export png
>>> export_png(p, filename="plot.png")

SVG
>>> from bokeh.io import export svgs
>>> p.output_backend = "svg"

>>> export svgs (p, filename="plot.svg")

(5) ersriE

>>> show (pl) >>> show (layout)
>>> save (pl) >>> save (layout)
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Python iEMF F& %K

>>> a.shape HARAK, JTLITILE F&E
>>> len (a) HAKE 3 iz
Numpy Ehi >>> b.ndin fir= >>> al2] [T | smmsommeta
>>> e.size WEBEZVE >>> b[1,2] o213 EFRTLIFNRINAIE (FETFb[1][2]
>>> b.dtype FiEIEHEY 6.0 1 -
>>> b.dtype.name HIRRBINZF -
>>> b.astype (int) # ] N
NumPy BRI b>> a(0:2] YEERE 005 11 RIA0(E
N £R array ([1, 2])
VAR o> b(0:2,1] s BIEEISIRE0T. HLTNME
Numpy 2 Python 3BRIFITEZOE, RIET HEENSEHANR KL >>> np.info (np.ndarray.dtype) array([ 2., 5.1) 4 [ 6 |
EHANTE,
b 48 >>> b[:1] 3 017 BFb[0:1,:1
HERHE PG Tl | EEsemmEA (FETbl:L)
N . 4 Hokr > >>> c[1,...] ZEETF (1]
ERUTEGSA Numpy E: gNumPy BiisE arraY([“L,[ 2 ]1]4]]),
>>> import num as np — - b, o
P py g sk A >>> al 1 i-1] R¥EHHa
NumPy %48 [-3., =3., =3. 1) R?;;y%(lw’ 2ot
A >>> np.subtract(a,b) Nons BRI R
L2 28R 34 e e >>> ala<2] R AR a AT/ 28018
o axis 2 array([[ 2.5, 4., 6.1, ! #a{ray([l])
~> axns1\ (5., 7., 9.11) EXFE5| )
iem o115 203 >>> np.add (b, a) msE >>> b[[1, 0, 1, 0], [0, 1, 2, O]] 3%4%(1,0),(0,1),(1,2) #1(0,0)FAx$ Rz H9E
axis 0 —p axis 0 —p >>> a / b B?/f array ([ 4. , 2. , 6., 1.5])
i BN array([[ 0.66666667, 1. .ol I >>> b[[1, 0, 1, 0]][:,[0,1,2,0]] WERERERTTYIF &
[ 0.25 , 0.4 , 0.5 1 array([[ 4. ,5. , 6., 4. ],
INTEET >>> np.divide (a,b) R [1.572., 3., 1.s),
BU@J@H >>> a * b eE [ 1.5 2.0 3., 1.51D)
array([[ 1.5, 4., 9. 1,
>>> a = np.array([1,2,3]) [ 4., 10., 18.11) "
>>> b = np.array([(1.5,2,3), (4,5,6)], dtype = float) >>> np.multiply(a,b) ek %&éﬁﬁﬁﬂz
>>> ¢ = np.array([[(1.5,2,3), (4,5,6)1, [(3,2,1), (4,5,6)1], >>> np.exp (b) = »
dtype = float) >>> np.sqrt (b) AR HENA
- — >>> np.sin(a) Fax >>> 1 = np.transpose (b) RENA
et SURE >>> np.cos (b) ESA p>> 1.T HEHRA
N 4 >>> np.log(a) SEZS0E 4 THARIR
>>> np.zeros((3,4)) gﬂ%gg?g;ﬁ >>> e.dot (f) =¥ o) >>> b.ravel () R $4E
>>> np.ones ((2,3,4),dtype=np.intl6 array([[ 7., 7.1, _ oy T <7
>>> d = np.arange (10,25, 5) BUEHAEIRAERA (FE) (7., 70D >>> g.reshape (3, -2) MEHATRK, EFHLIHE
- s AR ISR IBRE
>>> np.linspace(0,2,9) BRI EFRAEE (%) 3% >>> h.resize((2,6)) REFAR 9 (2,6) 9574048
>>> np.append (h, g) BIIMEE
>>> e = np.full((2,2),7) Bl EEA >>> a == b ST (B >>> np.insert(a, 1, 5) %)\?ﬁ%
>>> £ = np.eye (2) BIRR2QBTIEE el ; >>> np-delete (a, [11) MR 254
>>> np.random.random((2,2)) IERPEHER XA [ ’ 4 11, dtype=bool) P &
>>> np.empty ((3,2)) ¥y >>> a < 2 SFEL(E SRR
. ! AU array ([ ’ ’ ], dtype=bool) >>> np.concatenate((a,d),axis=0) 4
>>> np.array equal(a, b) bolne el HHESEAR
5@)\/5@&1‘ array([ 1, 2, 3, 10, 15, 20]) -
BRI >>> npi‘[f[stlack( (asb)) ] PR UTREE BRI
= array - P -1
RESEMNEE ER S (1.5, 2., 3.1,
>>> a.sum() LR (4., 5., 6.1D
>>> np.save ('my_array', a) >>> a.min () HAR/IME >>> np.r_[e, f] BT E RS A
>>> np.savez ('array.npz', a, b) >>> b.max (axis=0) MR AME, 1T >>> np.hstack( (e, f)) TEm LAY AL R B EER
>>> np.load('my array.npy') >>> b.cumsum (axis=1) HATENRINE array ([ 7., 7., 1., 0.1,
N >>> a.mean () EEL [ 7., 7., 0., 1.11)
RIFSBANXARX >>> b.median () i >>> np.column_stack ((a,d)) PRSP 25 =E
>>> np.loadtxt ("myfile.txt") P>> a.corrcoef () *ﬁ\*%& array“{ %: %g}:
>>> np.genfromtxt ("my file.csv", delimiter=',") >>> np.std(b) R [ 3, 201]) . —
>>> np.savetxt ("myarray.txt", a, delimiter=" ") >>> np.c_[a,d] LGRS EA

RS H SEIEA

* %k?F'J >>> .hsplit(a, 3) ot

.int64 BRI S M6AI L >>> np.copy (a) BURIBABRIEI A veplit 2 4R
e, TR A >>> h = a.copy () IR REEN et 28, PR R0 25H)
>>> np.complex ETRN12BALT SHE SR LA 2 61Dy

ES

5 .
([0 3., 2., 3.1,
>>> np.bool TH/RME: TruefEfFalse(d BB - ——
>>> np.object Python3t%

>>> np.string BEEKETHE >>> a.sort () HEBFF DataCamp @

>>> np.unicode EFEEE Unicode >>> c.sort (axis=0) DU A IEST SR HE [FEX{EE&E
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Python $UBRIF #&F

AR

>>>help (pd.Series.loc)

Pandas £t}

>>> s['b'] ENESIRE
R >>> df[1:] EVEURIEN & >>> df.sort values (by='Country')|#ZE5EHF
Pandas @&F Numpy IR Python &, R Python R Country Capital Population >>> df.rank() PIRIEHER
T%?ﬁﬁﬁﬁ@&ﬁ%ﬁ*ﬂﬁﬁﬁ*ﬁ-lﬂo ; BInd%a New D’el}lli 1303171035 :
razil Brasilia 207847528 Ei@r%@]l_ﬁ%&*&ﬁﬁ@{g,%‘
pandas i Mw : = \
wit =Pt p e WA, FRES I RIZEE HARE
ERLITEASA Pandas [ EE >>> df.shape (17,51))
>>> import pandas as pd >>> df.iloc[[0], [0]] BIT5YINUEIREREE >>> df.index FREXERS|
"Belgium' >>> df.columns FRENGI R
Pandas ¥R > df.iat([0]. [0 >>> df.info () RAIEIERAREE
la ([01,[01) >>> df.count () JENafER S E
Series - }-n%-;;u Belgium Lo
FRARE ==
. = _ A
AR RISIR — 5 >>> df.loc[[0], ['Country']] BTSN IHERRE 72 g‘?iﬂﬁs‘fm() ;;1
'Belgium' >>> df.min () /df.max () BIMERURKE
Index >>> df.at ([0], ['Country']) >>> df.idxmin ()/df.idxmax ()| &3 B/ MERRLIRS I BAME
'Belgium’ >>> df.describe () ERSET SR
- L >>> df .mean () U
>>> s = pd.Series([3, -5, 7, 4], index=['a', 'b', 'c', 'd']) ARG 8 >>> df.median () igg
e Lo ' L >>> df.ix[2] WRELT
DataFrame - #{4E1E Country Brazil S FA BRI 2K
Capital Brasilia
. Population 207847528 >>> f = lambda x: x*2 | EAB&&Klambda
A [Country] Capital JPopulation] =& RFIZAEIRA 4R df.ix[:, 'Capital’ pane S >>> df.apply (f) R PRI
>>0> ;fu[sselsapl al'l >>> df.applymap (f) IS B TTAR R R BRI
Belgium || Brussels {f 11190846 1 New Delhi
2 Brasili # %
%=3| > India | New Delhij§1303171035, reshe RS TS
- >>> df.ix[1, 'Capital']
Brazil | Brasilia |207847528 ew Detnir e AR EIBITITT
5 R2E| IMBAR—HHZRS|, NIEANAE:
>>> data = {'Country': ['Belgium', 'India', 'Brazil'], NN é\[~(s > 1)] 5 S i EATF1IME >>> s3 = pd.Series([7, -2, 3], index=['a', 'c', 'd'])
'Capital': ['Brussels', 'New Delhi', 'Brasilia'l, >>> s[(s < -1) | (s > 2)] F5 S FUNF-1sAF 28 >>> s + s3
'Population': [11190846, 1303171035, 207847528]} >>> df [df [ 'Population']>1200000000] RS IRE a 10.0
b NaN
>>> df = pd.DataFrame (data, 1§§{E c 530
columns=['Country', 'Capital', 'Population']) >>> s['a'] = 6 S5 S 2| % a IEIEH6 a 5 : 0

WEFE

25 NumPy Arrays

il

>>> s.drop(['a', 'c'])

>>> df.drop('Country', axis=l

KRR IMERR5IRE (axis=0)
R 2 MEREIEERYS (axis=1)

HEFp A HES

fER Fill 5758

BN/
RIS N SO BRI

>>> pd.read csv('file.csv', header=None, nrows=5)
>>> df.to_csv('myDataFrame.csv')

1528/ NExcel

>>> pd.read excel('file.xlsx")

>>> pd.to_excel ('dir/myDataFrame.xlsx', sheet name='Sheetl')
EEAE SN REEXCel

>>> xlsx = pd.ExcelFile('file.xls")
>>> df = pd.read excel(xlsx, 'Sheetl')

from sglalchemy import create engine

engine = create engine('sqglite:///:memory:")
pd.read sql ("SELECT * FROM my table;", engine)
pd.read sql table('my table', engine)

pd.read_sql query("SELECT * FROM my table;", engine)

read_sql():& read_sql_table() 5 read_sql_query()B9{@EiEIT 223

>>> pd.to _sql('myDf', engine) |

ERTLASEA Fill 755 TRERRFREE

.add(s3, fill value=0)

10.0
-5.0
5.0
7.0

.sub(s3, fill value=2)
.div(s3, fill value=4)
.mul (s3, fill value=3)

RX k&
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Python $UERIFE F&F

EhithkE HIEL HHE2
N A >>> df3.loc[:, (df3>1) .any ()] ERE—EAXF1ING| X X2 X1 X3
Pa nd as l&lg” >>> df3.loc[:, (df3>1).all()] ERFTEEAT 1T -
>>> df3.loc[:,df3.isnull().any()] HEARE NaN{Em3) a_ 1143 a_||Angks
>>> df3.loc[:,df3.notnull ().all ()] HEEAENaNERT! b | 1303 b || NaN
EITisiniE s s
S>> df [ (df.Country.isin (d£2.Type)) ] PR R R — KA c 1199506 d_Jl20784

* \
>>> df.select (lambda x: not x%5) EEIEETTER = 7-Merge

B0

BT Wherel&#F >>> pd.merge (datal, i 29 29
>>> df3= df2.pivot (index='Date', BT R >>> s.where(s > 0) EETE data2, 2 |l11.432/ 20784
1 —r7 ' sm R _ '
cotumns='Type - &t QueryifEiF how="leftr, b |l 1303 || NaN
values='Value') >>> df6.query ('second > first') #4DataFrame on="x%1") 5950 T
& o5 s0c] e
o Nu
[o] [2016-03-01][ a ][ 11432 Type a b e 1B /BUBES| >>> pd.merge (datal, By X2 s
2016-03-02|| b || 13.031 Date >>> df.set_index ('Country') BE=I| gz‘ii%;ight‘ a_ ||11.432][20.784
2016-03-01 || ¢ || 20.784 _ |2016-03-01 || 11.432|| NaN |[20.784 >>> df4 = df.reset index() BUHZS| on="¥X1") 4 b 1.303 || NaN
> >>> df = df.rename (index=str o I
2016-03-03 || a_|] 99.906 2016-03-02 | 1.303 I 13.031 || Nan (columns= Countey™:mentey™, Eep&DataFrame’!|& d_ || NaN [|20.784
_03- "Capital™:"cptl",
2016:03-02]] a |[ 1.303 2016-03-03 || 99.906 || NaN_|| 20.784 "Boulationts "opltnt}) >>> pd.merge (datal, x1 | x2 | x3
2016-03-03 || ¢ |[ 20784 dataz,
pe—— how="'inner"', a_|l11.432][20.784
BERER == on='X1") b |[ 1303 || NaN
_ : o1 1ot gt 1et ipt
>>> df4 - pd.pivot table (df2, BT R p>> 52 = s.reindex(['a’,'ct, 1, e, 1B1) | xt [ x2 | x3
valvessivalue!, HiIE S IEIREEE >>> pd.merge (datal, a|[11.432][20784
index="'Date . - data2 ‘ =
columns:'Typé' 1) >>> df.reindex (range (4), >>> s3 = s.reindex(range(5), how=‘é>uter‘ b 1303 || NaN
method="£ffill") method="bfill") on="X1") !
i&*& / }ii&*& Country Capital Population|| 0 3 £ || e
- 0 Belgium Brussels 11190846 1 3 d || NaN [/20.784
>>> stacked = df5.stack() BIHIRE 1 India New Delhi 1303171035/ 2 3 —
>>> stacked.unstack () Gl Loy 2 Brazil Brasilia 207847528 || 3 3 E#E-Join
3 Brazil Brasilia 207847528 4 3
0 1 1[5][0][0.233482 [>> datal.join(data2, how='right') |
ZEER5| }##%&-Concatenate
2[[4]0.184713]0.237102 2|[4]{0]]0.184713
>>> arrays = [np.array([1,2,3]), g»\r‘—_‘
3[3]f0.4335220.429401 1]]0.237102 np.array([5,4,3])] "
st ol 03 Semiaet Dicerane op rendon. and (3, 2), index-arrays) (O
11]0.429401 >>> index = pd.MultiIndex.fromﬁtuples(tuples,' ) : . . >>> pd.concat ([s,s2],axis=1, keys=['One', 'Two'])
e namesz[lﬁrst , second']) >>> pd.concat ([datal, data2], axis=1, join="inner')
>>> df6 = pd.DataFrame (np.random.rand(3, 2), index=index)
>>> pd.melt (df2, B RT
id_vars=["Date"], Eggﬁg >>> df2['Date']= pd.to_datetime(df2['Date'])
value_vars=["Type", "Value"], >>> df2['Date']= pd.date_range('2000-1-1",
value name="Observations") >>> s3.unique () IR [E]ME—{E periods=6,
vt
e (Vo] Oservations] >>> df2.duplicated('Type') THESE 5> dates — [datetime(2012,5,1), ducetime (2012,5,2)]
[Date | [Type][Value ] ot 0301 ][ Tope = >>> df2.drop duplicates ('Type', keep='last') EREEE >>> index = pd.DatetimelIndex (dates)
2016-03-01|| a || 11.432 2016.03-02 || Type >>> df.index.duplicated() EHREE RS >>> index = pd.date range (datetime(2012,2,1), end, freg='BM')

2016-03-02 || b || 13.031

b
2016-03-01 || Type €
a
a

[0]
o 1]
L
2] )
2016-03-01 || ¢ || 20784 . [3]12016:05-03 | Type BiES A AL 27 Matplotlib
> ] [2016-03-02 | Type -
2016-03-03 || a_ || 99.906 =1 Goreoros] Time = jlfi:ldfz - . 0 >>> import matplotlib.pyplot as plt |
2016-03-02 1.303 = .grou e'l) .mean
A 2 (o] [ors03-0] [ Value |[i1a32 S35 G£4.groupby (1 Cstm (177 >>> s.plot () >>> df2.plot ()
2016-03-03|| ¢ |[20.784 [7][2016-03-02][ Value |[ 13.031 >>> df4.groupby (1 . a':lambda x:sum(x)/len(x), >>> plt.show () >>> plt.show ()
18 ]| 2016-03-01 || Value 20.784 'D': np.sum}) 20
[5][2016-03-03 ][ Value ||_99.906 iR o]
Lo
10

2016-03-02 || Value 1.303
2016-03-03 || Value 20.784

S : n

>>> df4.groupby (level=0) .transform(customSum)

.
>>> customSum = lambda x: (x+x%2) 4
2
0

=y
=

>>> df.dropna () ErgTrsENaN - v G T 5 5 <
>>> df.iteritenms () (FIZR51, F5l) #EY >>> df3.fillna (df3.mean()) A A E T A ENaN DataCamp
p>> df.iterrows () (T%51, F5) s#MEs >>> df2.replace ("a", "f") A—NMEERS—ME Learn Python for Data Science Interactively
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Python BiBHI¥ vz
£/ linalg #0 sparse &3k, & scipy.linalg &7 numpy.linalg, H¥ BT HIEE
SCiPy - 2£'|‘g51—bﬁ |>>> from scipy import linalg, sparse ‘ %EBEIZI%&
ellfe st o3&
>>> A = np.matrix(np.random.random((2,2))) >>> np.add (A, D) hn
>>> C = np.mat (np.random.random( (10,5))) S
” I o> D = np.mat ([[3,41, [5,611) >[;>\£np.subtract (&,D) %
SciPy @&F NumPy 8IZ28 Python B+ EZLE, 3 = e
BT RS IS EAS KA, SciPy | ezreE e iide (D) ok
- e )
ZienE SKIFEEPE >>> np.multiply (D, A) B
>>> A:I ' Ky 5EpE >>> np.dot (A, D) =R
5NumPyxxE L) | p>> linalg.inv(a) e >>> np.vdot (a, D) EIE AR
— ° >>> A.T HipEE >>> np.inner (A, D) z?l\ﬁ
> import numpy as np >>> A.H > E — A
FOp::Vs =H9F0 >>> np.outer (A,D) A
>ii z = np.arrayg %1(1%53] )2 S5y g5, 65 1) >>> np.trace (A) HERRATRA >>> np.tensordot (A, D) KE SR
> = np.array Jr2]r233) 0 ’ ’ I A
>>> ¢ = np.array ([[(1.5,2,3), (4,5,6)1, [(3,2,1), (4,5,6)11) e . “‘;‘km“(A’D) Kronecker 3
>>> linalg.norm(A) Frobenius SE#K IEERERER »
=2 |15 >>> linalg.norm (A, 1) L1 5888 (BATICE) >>> linalg.expm(A) ';Eligaiz S
- e . . K LB = 1130 2 >>> linalg.expm2 (A) itre=t %
>>> np.mgrid[0:5,0:5] BIERZ ML >>> linalg.norm (A, np.inf) T (BAT ) >>> linalg.expm3 (D) ')‘EFETE%( (FHEEDR)
>>> np.ogrid[0:2,0:2] BUEEFF RS H2 STELRIEL
>>> np.r [[3,[0]%5,-1:1:107] RITMNEHES AR >>> np.linalg.matrix rank(C) | fBFEHER 55> linalg.logm(3) FBPERTEL
>>> np.c_[b,c] DI B B IR i
o IRt =R SEREE
*5%??%24* >>> linalg.det (A) >>> linalg.sinm(D) RS
SRERLIE ISR >>> linalg.cosm (D) %EF’-E’/CJB@%
>>> np.transpose (b) B >>> linalg.solve (A,D) SRARTAZRFEPE >>> linalg.tanm(A) -
>>> b.flatten () HIF A >>> E = np.mat(a).T KRARTHZE FEPE YA = FR R #R
>>> np.hstack ((b,c)) By E S A >>> linalg.lstsq(D,E) A&/ IR RBAM TS E2 >>> linalg.sinhm(D) SRR AE R IE 5
>>> np.vstack((a,b)) BT BB A >>> 1inalg.coshm (D) IRHRFE RS
>>> np.hsplit(c,2) ERS21BA D FIEA e >>> linalg.tanhm(A) XREAAE FEATIL,
>>> np.vpslit (d,2) 23 2\ EIRA o linalg.piny(C) BB (B TERIRR) SRS R -
=/ ST >>> linalg.pinv2 (C) IHEIEMEAY(EE (SVD) HERET SR
>>> from numpy import polyld ‘ >>> linalg.sqrtm () EFEFE AR
>>> p = polyld([3,4,5]) BEZMAINER EERH i
%EIZI*& ﬁu@ﬁﬁﬁﬁ%ﬁ[}zﬁ >>> linalg.funm(A, lambda x: x*x) FHEAEREERE
2Nz
>>> F = np.eye (3, k=1) BUEE2X2 5B PE
>>> def myfunc(a): >>> G = np.mat (np.identity(2))| BIER2X2EP{ISERE XEPE R
Haco >>> C[C > 0.5] = 0
else: >>> H = sparse.csr_matrix(C) EZBE TR E BHEESHHERE R s N
return a/2 >>> I = sparse.csc_matrix (D) | [E45FSERBIERE >>> la, v = linalg.eig(A) SKEER MR E B R EER R
>>> np.vectorize (myfunc) RERE >>> J = sparse.dok matrix(A) DOK4ERE
P>> E.todensel) BRIIER I N2 IER >>> 11, 12 = la RERILE
%@E@ﬁg” >>> sparse.isspmatrix csc(A) (G T B >>> v[:,0] B MSEE
SRR >>> v[:,1] E-MFEE
>>> np.real (c) S ZHTTERHBYRE 2 1132 >>> linalg.eigvals (A) RESEE
>>> np.imag(c) IR Bl 4H T R ﬁﬁE}IL%EIEEWHE SREDR
> np.realiifﬁc'lose(C,toll=1000) ﬁﬂ%ﬁ%&gﬁo, }?@é&gm% THHE P >>> U,s,Vh = linalg.svd(B) FREHMR (SVD)
>>> np.cast['f'] (np.pi) R EIELR ) ) N _
>>> sparse.linalg.inv (I) SKIF 4B pE >>> M, N B.shape .
2 R STt >>> Sig = linalg.diagsvd(s,M,N) |TE SVD 5% Sigma %EF%
- >>> sparse.linalg.norm(I) B LU 72
>>> np.angle (b, deg= ) REIEHNAE MR 5 5 >>> P,L,U = linalg.lu(C) LU 31
>>> g = np.linspace (0 np.pi, nun=D) | fpes st dhin  (EANER) >>> sparse.linalg.spsolve (H,1) |WRAERETEPE
>>> g [3:] += np.pi e FRAIFRERAE P
>>> np.unwrap (g) 25 SR
>>> np.logspace (0,10, 3) CIBEENAE (WHAIE) ﬁ%ﬁ)m%ﬁﬁi@y& >>> la, v = sparse.linalg.eigs(F,1) | ¥IEEF A2
>>> np.select ([c<4], [c*2]) |BIERREIEATIFRIE |>>> sparse.linalg.expm(I) ‘ RSB EIER ‘ >>> sparse.linalg.svds (H, 2) FREDHR (SVD)
>>> misc.factorial (a) AF
>>> misc.comb (10,3, exact=""10) [ERKANINAYEA &, B Escipy.special.comb JE FA EB
>>> misc.central diff weights(3) NPEFLEHNE ﬂﬁﬁmﬁj] . . . a EX{IF% Datacamp
>>> misc.derivative (myfunc,1.0) |ZEEMIIE SIS S iii Eg%géigtﬁg:iiﬂgidlmsv ) Learn Python for Data Science Interactively



https://www.hellobi.com/
https://www.jianshu.com/u/be48b04ecc3e

=]

3 S3F L —
Python#UiERF F&F i i

5+ 71 >>> model.output_shape ﬁg'—i&ﬁﬂjﬂfﬁ
FhtEa >>> model.summary () HENEE R
: i ]
>>> from keras.models import Sequential >>> model.get_config () o
Ke raS >>> model = Sequential () >>> model.get _weights () F| BRI PR ENE K E

>>> model2 = Sequential () =

>>> model3 = Sequential () éﬁﬁ*ﬁﬂ
Keras ZEREMZE (MLP) SRBAE: HHINE

—HE S >>> model.compile (optimizer="adam',

— 1 ='bi sentropy'

o s = >>> from keras.layers import Dense m(;stsricsin[a.?éziigscyv i Py
KerasEig K. ZBRAREF SR, EFTheanoflTensorFlowefit >>> model.add (Dense (12, SRR SR
TEMEEMEAPI, BTFHLITHEREFSIIRE, input_dim=8, >>> model.compile (optimizer='rmsprop',
kernel_ initializer='uniform', loss='"categorical_crossentropy',
_— activation='relu')) =T . | metrics=["'accuracy'])
3l >>> model.add (Dense (8, kernel initializer='uniform',activation='relu')) ZREME: B ) o ., ,
S>> import numpy as np >>> model.add (Dense (1,kernel initializer='uniform',activation='sigmoid"')) >>> model.compile (igzéi}fnzél repreR
>>> from keras.models import Sequential SRS metrics=['mae'])
>>> from keras.layers import Dense >>> from keras.layers import Dropout B R
>>> data = np.random.random((1000,100)) >>> model.add (Dense (512, activation="relu', input shape=(784,))) = e ) s ,
>>> labels = np.random.randint (2,size=(1000,1)) >>> model.add (Dropout (0.2)) >>> mOdel3-COmplle(éoii;i};éii{fga;;?sSthIOPy ,
>>> model = Sequential () >>> model.add (Dense (512,activation="relu')) mgtricsz [ 'accuraéy' 1)
>>> model.add (Dense (32, >>> model.add (Dropout (0.2))
(

activation='relu', >>> model.add (Dense (10, activation="'softmax"'))

iR |
>>> model.add (Dense (1, activation='sigmoid')) [E1)3 I

>>> model.compile (optimizer="'rmsprop', >>> model.add (Dense (64,activation="relu', input dim=train data.shape[1])) >>> model3.fit (x_traind,
loss='binary crossentropy', >>> model.add (Dense (1)) y traind,

i batch size=32
metrics=["'accuracy']) O3 42 _S ’
>>> model.fit (data, labels, epochs=10,batch_size=32) %ﬁ’&qiélmé% (CNN) sggggzgiil
>>> predictions = model.predict (data) >>> from keras.layers import Activation,Conv2D,MaxPooling2D,Flatten validation data=(x testd,y testd))

>>> model2.add (Conv2D (32, (3, 3) ,padding="same', input shape=x train.shape[l:]))
¥ >>> model2.add(Activation('relu')) N ol

)| [ o e s, TSR AR
BIRETFH NumPy $EAS#AATIR, A sklearn.cross_validation :i mogei'a:g
B9 train_test_split HRH#ITHENEEIRD BN £ 5 EE, moce.s-a

>>> model2.add

Activation('relu')) >>> score = model3.evaluate(x_ test,

MaxPooling2D (pool_size=(2,2))) y_test,
Dropout (0.25)) batch size=32)

(
(
(
(
>>> model2.add(Conv2D (64, (3,3), padding='same'))
Keras fﬂ(?}é‘% >>> model2.add (Activation('relu')) %ﬁjiﬂ]”
>>> model2.add(Conv2D (64, (3, 3))) - ;
>>> from keras.datasets import boston_housing, >>> model2.add (Activation ('relu')) >>> model3.predict (x_testd4, batch size=32)
mr}ist, >>> model2.add (MaxPooling2D (pool size=(2,2))) >>> model3.predict_classes(x_test4d,batch_size=32)
i;ﬁgrlof >>> model2.add (Dropout (0.25))
>>> (x_train,y_train), (x_test,y_test) = mnist.load data() >>> model2.add (Flatten()) RIF/INEHEE
>>> (x_train2,y train2), (x_test2,y test2) = boston housing.load data() >>> model?2.add (Dense (512))
>>> (x_train3,y train3), (x_test3,y test3) = cifarl0.load data() >>> model?2.add (Activation ('relu')) >>> from keras.models import load model
>>> (x_train4,y train4), (x test4,y test4) = imdb.load data (num words=20000) >>> model2.add (Dropout (0.5)) >>> model3.save ('model file.h5")

>>> num_classes = 10

>>> model2.add(Dense (num_classes)) p>> my _model = load model('my _model.hS')

=E TRETIE
N Sth 42
>>> from urllib.request import urlopen @U3$$éllx_>€|% (RNN)

>>> dat; = op. logdtxt (urlopen ("http //grchivg -les. uii -edu/ >>> from keras.klayers import Embedding, LSTM %;&fﬁﬂﬂ
ml/machine-learning-databases/pima-indians-diabetes >>> model3.add (Embedding (20000, 128) )

lpima-indians-diabetes.data"),delimiter=",") >>> from keras.optimizers import RMSprop

>>> X = datal:,0:8] >>> model3.add (LSTM(128,dropout=0.2, recurrent dropout=0.2)) >>> opt = RMSprop(lr=0.0001, decay=le-6)

>>> y = data [:,8] >>> model3.add(Dense(l,activation="'sigmoid')) >>> model2.compile (loss='categorical crossentropy',
optimizer=opt, -

|

metrics=["'accuracy'])
S(SES
. T 2157
1)1 1|2k 5 i3
}_%_5] E?E -LJ ﬁx%/”fk% >>> from keras.callbacks import EarlyStopping
>>> from keras.preprocessing import sequence >>> from sklearn.model selection import train test split >>> early stopping monitor = EarlyStopping (patience=2)
>>> x_train4 = sequence.pad_sequences (x_train4,maxlen=80) >>> X train5,X test5,y trainS,y test5 = train test split(X, >>> model3.fit (x_train4,
>>> x testd = sequence.pad_sequences (x_test4,maxlen=80) }:/ést_size:OJB, g_tr}alinéll, -
dom state=42) atch size=32,
T PR “onCoT s
FANER = epochs=15
o : /)3 —1k ol Sation data= (x testd v testd)
>>> from keras.utils import to_categorical = 1 — Sorr_m= ’
>>> Y train = to_categorical (y_train, num_classes) >>> from sklearn.preprocessing import StandardScaler callbacks=[early stopping monitor])
>>> Y test = to_categorical(y_ test, num classes) >>> scaler = StandardScaler () .fit (x train2)
>>> Y train3 = to categorical(y train3, num classes) >>> standardized X = scaler.transform(x_train2) DataCa
>>> Y test3 = to categorical (y test3, num classes) >>> standardized X test = scaler.transform(x_ test2) Learn Python fo e lnterachuely
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Scikit-learn

Scikit-learn

Scikit-learn 2FFJ5A9 Python [, @I45—MEESEI
M2ZFS). TR, RIXRIIER A ES

&1
>>> from sklearn import neighbors, datasets, preprocessing
>>> from sklearn.model selection import train_test_split
>>> from sklearn.metrics import accuracy_score
>>> iris = datasets.load iris()
>>> X, y = iris.datal[:, :2], iris.target
>>> X train, X test, y train, y test=train test split (X, y, random state=33)
>>> scaler = preprocessing.StandardScaler () .fit (X_train)
>>> X train = scaler.transform(X_ train)
>>> X test = scaler.transform(X_ test)
>>> knn = neighbors.KNeighborsClassifier (n_neighbors=5)
>>> knn.fit (X_train, y train)
>>> y pred = knn.predict (X test)
>>> accuracy_score(y_test, y_pred)

INEEE )

Scikit-learn QM RAERIE R 2% NumPy $8403% SciPy #HHiEFERY
¥F, EXF Pandas BIBESF A IR ARFHANE EHIELREL,

>>> import numpy as np

>>> X = np.random.random((10,5))

>>> y = np.array(['M','M','F','F','"M',"F','M', 'M', 'F', 'F', 'F']
>>> X[X < 0.7] =0

WRES N E LR

>>> from sklearn.model_selection import train_test_split
>>> X train, X test, y train, y test = train test split(X,

Y

random_ state=0)

ellfe s

BB TS IHEE

£ 1%EY3
>>> from sklearn.linear model import LinearRegression
>>> lr = LinearRegression (normalize= )

ZRmEN(SVM)

>>> from sklearn.svm import SVC

>>> svc = SVC (kernel='linear'")

FhER DL H

>>> from sklearn.naive bayes import GaussianNB

>>> gnb = GaussianNB()

KNN

>>> from sklearn import neighbors

>>> knn neighbors.KNeighborsClassifier (n_neighbors=5)

T B ¥ 31 ¥ b as

F 53 73T (PCA)

>>> from sklearn.decomposition import PCA

>>> pca = PCA(n_components=0.95)

K Means

>>> from sklearn.cluster import KMeans

>>> k means = KMeans (n_clusters=3, random state=0)

RS

BUEESS]

>>> 1r.fit (X, ) PETIBRS R
>>> knn.fit (X_train, y_train)
>>> svc.fit (X train, y train)

FUEFS)
>>> k means.fit (X_train) UEEIESER
>>> pca_model = pca.fit transform(X train) | ip&HELiasiiE

ST

R
>>> knn.score (X_test, y test) im{aggimﬁif
>>> from sklearn.metrics import accuracy score B ANy T
>>> accuracy_score(y_test, y pred)

DEFUEITNERE
>>> from sklearn.metrics import classification report [{gHE. BEIFE, F1
>>> print(classification report (y test, y pred))|n#ikziFxR
SRR
>>> from sklearn.metrics import confusion matrix
>>> print (confusion matrix(y_ test, y pred))

(EIPEEi Sty

TEITIRE
>>> from sklearn.metrics import
ean_absolute_error >>> y true = [3, -0.5, 2]
>>> mean absolute error(y true, y pred)
BHIRE

>>> from sklearn.metrics import mean squared error
>>> mean squared error (y_test, y pred)

R? %)
>>> from sklearn.metrics import r2_score
>>> r2 score(y true, pred)

BEERIEAT

TREZEBRE

>>> from sklearn.metrics import adjusted_rand_score
>>> adjusted rand score(y_true, y pred)

Eilag

>>> from sklearn.metrics import homogeneity score
>>> homogeneity score(y_true, y pred)

V-measure

>>> from sklearn.metrics import v_measure_score

>>> metrics.v_measure_score(y_ true, y pred)

X ILIE

BULET5E

>>> y pred = svc.predict (np.random.random((2,5)))| FUMIRE

>>> y pred = lr.predict (X test) MFRES
>>> y pred = knn.predict proba (X test) §%§¢?Eﬁ$
Gk
TS BT
>>> y pred = k _means.predict (X _test) FUNBREF LBNGRT

RTINS IE

>>> from sklearn.preprocessing import StandardScaler
>>> scaler = StandardScaler () .fit (X_train)

>>> standardized X = scaler.transform(X_ train)

>>> standardized X test = scaler.transform(X test)

TR IRD 70 ZEASE

>>> from sklearn.preprocessing import LabelEncoder
>>> enc = LabelEncoder ()
>>> y = enc.fit_transform(y)

i8N R SR

>>> from sklearn.preprocessing import Normalizer
>>> scaler = Normalizer ().fit (X_train)

>>> normalized X = scaler.transform(X_ train)

>>> normalized_X_test = scaler.transform(X_ test)

>>> from sklearn.preprocessing import Imputer
>>> imp = Imputer (missing_ values=0, strategy='mean',6 axis=0)
>>> imp.fit_transform(X_ train)

—{E1L

£ S I EUAFIE

>>> from sklearn.preprocessing import Binarizer
>>> binarizer = Binarizer (threshold=0.0) .fit (X)
>>> binary X = binarizer.transform(X)

>>> from sklearn.preprocessing import PolynomialFeatures
>>> poly = PolynomialFeatures (5)
>>> poly.fit_transform(X)

>>> from sklearn.cross validation import cross_val score
>>> print (cross_val score(knn, X train, y train, cv=4))
>>> print(cross val score(lr, X, y, cv=2))

a1

>>> from sklearn.grid_search import GridSearchCV
>>> params = {"n neighbors": np.arange(l,3),
"metric": ["euclidean", "cityblock"]}

>>> grid = GridSearchCV (estimator=knn,
param_grid=params)

>>> grid.fit (X _train, y train)

>>> print (grid.best score )

>>> print (grid.best_estimator_.n_neighbors)

BEN S

>>> from sklearn.grid search import RandomizedSearchCV

>>> params = {"n neighbors": range(1,5),

"weights": ["uniform", "distance"]}

>>> rsearch = RandomizedSearchCV (estimator=knn,

param distributions=params,
cv=4,

>>> rsearch.fit (X _train, y train)
>>> print (rsearch.best score )
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ﬁ |>>> df = df.dropDuplicates () | >>> df.groupBy ( (age") \ ¥ age BI94H, FitSHAAEK
- .count ()
PySpark - SQL £t e count
elec
>>> df.select ("firstName") .show () 77 firstName FIMIFRE 5B ; "agen 1|73 =
>>> df.select ("firstName", "lastName") \ = >>> df.filter (df ["age"]>24) .show () ?ﬁage BIfFE, FREKATF24
PySpark 5 Spark SQL .show ()
>>> df.select ("firstName", Eon firstName.  age HFTE &R BEMAER
ApacHE "age",
Spark SQL £ Apache Spark SMBLE L AIBRIEIR, Spm"’é o (ohoneuber®) | H
- (.'a'\iL:loaséaCcoE;intéliLiOyg)e"\, >>> peopledf.sort (peopledf.age.desc()) .collect()
*TIHe 7 e " >>> df.sort ("age", ascending=False).collect ()
%Dyuf't SparkSeSS|on "gléz}’;?ar\ne ! >>> df.orderBy(["age","city"],ascending=[0,1]1)\
SparkSession B FRIREIRIE, REBEIM AR, HhiTSQLEE, &7 . show () -collect ()
= K%32EX Parquet ST, >>> df.select (df ["firstName"],df["age" ]+ 1) | &7k firstName #1 age BIBIFRE
. . .show () 12%, F¥ age i8R
>>> from pyspark.sql import SparkSession >>> df.select (df['age'] > 24).show () ERFAE/NTF4A5HIEHE g?ﬁﬁkg&{ﬁ
>>> spark = SparkSession \ When
-builder \ >>> df.select ("firstName" [P flrstName EJQEF3054LT :
" : " . ’ — — f. i1l .sh — =
.config ("spark.some.config.option”, "some-value") \ ~otherwise (0)) \ .. df'na.\ . l_/\E E; _/1\73
.getOrCreate () . show () _ N ] :replace(lo, 20) \ BA—MEBRS—M
>>> df [df.firstName.isin ("Jane","Boris")] |R2TREEESRMH firstName | ~show ()

Bl ERIEAE Like .collect () HiER
>>> df.select ("firstName", 277 lastName 5Fh 61 & Smith FEHX
M RDD RIIE df.lastName.like ("Smith")) \|BJfirstName FIB9IZR

.show () c 5 y AN
>>> from pyspark.sqgl.types import * Startswith - Endswith _ . >>> df.repartition(10)\ # df fF R0 3K
#BT Schema >>> df.select ("firstName", ?‘umh}astN%%%%;u Sm FFKHY -rd(tiN\ Partits 0

_ df.lastName irstName %IBY1C3 -getNumPartitions N
>>> sc = spark. spark(;ontext startswitﬁ ("sm™)) \ >>> df.coalesce (1) .rdd.getNumPartitions () | B df &HAIPMHK
>>> lines = sc.textFile ("people.txt") show () :
>>> parts = lines.map(lambda 1: l.split(",")) . : - SR sEEpY
>> people — parts.map(lambda p: Row (name=p[0],age=int (p[1]1))) >>> df. iﬁis((:;: (df.lastName.endswith ("th")) \| B/ th Z5EM lastName :LE_ = SQL =5 1/]
>>> peopledf = spark.createDataFrame (people) Substriﬁg
$87E Schema >>> df.select (df .firstName.substr (1, 3) \ |i&[E firstName FFH & 230 LA S 0 S i e
>>> people = parts.map (lambda p: Row(name=p[0], .alias ("name")) \ 17}9&?E$[’Iﬂﬂjjﬂ“
age=int (p[1].strip()))) -collect () >>> peopledf.createGlobalTempView ("people")
>>> schemaString = "name age" Between = % & >>> df.createTempView ("customer")
>>> fields = [StructField (field name, StringType(), True) for| >>> df.select (df.age.between (22, 24)) \ i'lm_‘{':-Fzz =24 iE]#Y age >>> df.createOrReplaceTempView ("customer")
fileld name in schemaString.split()] .show () BIRIE SR
>>> schema = StructType (fields) 7§11EUU|'|J
>>>__s_}2§f_k_£1£?ateDataFrame (people, schema) .show () //J\\HD\ 1|52EQ ﬂﬂ”'}_—rﬁj N = JP———— - p—
| name | age | = spark.sqgl (" customer") .show
fommmm o oot 3 - " * "
| Mine| 28 ﬁﬁ\bﬂ@] >>> peopledf2 spark. zgév(v ()SELECT FROM global temp.people")\
| Filip| 29| :
‘f??ff?fﬂ_fﬂ >>> df = df.withColumn('city',df.address.city) \

.withColumn ('streetAddress',df.address.streetAddress) \

JSON explode (df .phoneNumber .number)) \ EK;E’D*j

>>> df = spark.read.json("customer.json")

(
uiEnColumn (1Stater, o address.race) \ o
- ; ' ' I
}\A Spark %&?E}E’E\UE .w1thColumnE state',df.address.state) \ Al
(

.withColumn ('telePhoneType' N
>7> df.show() F— ; ; ; explode (df . phoneNumber . type) ) >>> rddl = df.rdd % df #iJ9 RDD
| address|age|firstName |lastName | phoneNumber | >>> SE . togsog () .first () 5 df #1259 RDD F5 8
> . IRGEY
| [New York,10021 25] John|  Smith|[[212 555-1234,ho... | &5 >>> df.toPandas () # df B K Pandas BOERIE
| [New York,lOOZl N \ 21 Jane | Doe| [[322 888-1234,ho...|

>>> df2 = spark.read.load("people.json", format="json") |> Wt b ( oneu T« phonefu ) | T%T?:n:}‘dff-
Parquet XX sl >>> df.select ("firstName", "city")\
>>> df3 = spark.read.load("users.parquet")

.write \
XA >>> df = df.drop("address", "phoneNumber") .save ("nameAndCity.parquet")
>>> df4 = spark.read.text ("people.txt") >>> df = df.drop(df.address) .drop (df.phoneNumber) >>> df.select ("firstName", "age") \
.write \
. .save ("namesAndAges.json", format="json")
BHBIEES
R A
>>> df.dtypes RG] df 195 B 5 EEIEHE >>> df.describe () .show () SCRSGITHEGE '\-'J: SparkSeSS|on
>>> df.show () 2R df NS >>> df-COlUmHS E@ df 1951 |>>> spark.stop ()
>>> df.head () R[EFT n TEE >>> df.count () R df BT park.stop
>>> df.first () RO 1THHE >>> df.distinct().count() |;E[Edf PAEEMITH
>>> df.take (2) [EET n T2 >>> df .printSchema () g!_i_IEl dfffy Schema P
>>> df.schema =[] df 9 Schema >>> df.explain() B[] EEE%"_QSH; Learn Python for Data Science Interactively




o g 4 ERBEIERA
PythonBiERIFEF &%

iz 2 Ly
>>> rdd.reduceByKey (lambda x,y : x+y) AEHEMNEMN RDD &
PyS pa rk -RDD ﬁ__'__ EII:H >>> rdd.getNumPartitions () BIItH 53 X #k .collect ()
>>> rdd.count () 115 RDD Lfflth = [('a',9),('b",2)]
3 >>> rdd.reduce(lambda a, b: a + b) &7 RDD H9{E
>>> rdd.countByKey () 258118 RDD L= (ta',7,'a',2,'b",2)
defaultdict (<type 'int'>,{'a':2,'b':1}) Pag:|
>>> rdd.countByValue () ¥2{E1T5 RDD LI E >>> rdd3.groupBy (lambda x: x % 2) iR[6] RDD B3 4R1E
Spark defaultdict (<type 'int'>, {('b',2):1, ('a',2):1, ('a',7):1}) . .mapValues (list)
>>> rdd.collectAsMap () LA B TR BIRE .collect ()
= A 9 B {ra': 2,'b': 2} >>> rdd.groupByKey () 18524540 RDD
ggiﬁf%g&grk LRt Al cuar e iz s ““"“"(‘z >>> rdd3.sum() JCRRDD 7T .maﬁ)\llalut?:)s (list)
o 4950 .collect
>>> sc.parallelize([]).isEmpty () 7% RDD BENE [('a',[7,21), ('b', [2])]
kY HX A
91k Spark - BE
o> seqp = (Lanbda x,y: G014y, x[L141))
= (1 ,v: (%[0 0],x[1 1
SparkContext o> rdd3.max () e L S greante (0.0 cenon: ombom) | TR& A HEERE ROD
99 T a4
>>> from pyspark import SparkContext ; TENSR (4950,100) ToE, FRHER
>>> sc = gga?kConéegt (maslt::)er = 'lo}éal [21") | >>3 Faazmin () ROD 7o 1E >>> rdd.aggregateByKey ((0,0), seqop, combop) | L& RDD BURHIE
*;_7& ” >>> rdd3.mean () RDD TR FIE [( . igl;)ez):t ()( Y, (2,1))]
SparkContext 49.5 2t (9,20, (b2, ;
9.5 edsoy —— AT L8895 ROD
>>> sc.version JXEX SparkContext ki Zs 28'866070047722118 N — 4950 TR, HEHER
>>> sc.pythonVer ﬁ%éz%hon RRZs >>23§d§§ .variance () 1+8 RDD TR G E >>> rdd.foldByKey (0, add) EHENENE
>>> sc.master =] 4 Master URL . . . .collect ()
S>> str(sc.sparkHome) Spark 75 TR SE Rtz >>> rdd3.histogram(3) 2% (Bin) £EHE 2o oo
>>> str(sc.sparkUser ()) $EY S KC T‘t"“tﬂ']s EFHF'% ([0,33,66,99],[33,33,34]) LCta',9),( 2]
.Sp ¥ parkContext HJ Spar S>> rdd3.stats () ﬁﬁfffl N ~ _ >>> rdd3.keyBy(lambda x: x+x) T TRE, B
S S B St TISE, AR, BABNSIE collect ) RDD e 974
>>> sc.applicationId SREXN FHFEFID
>>> sc.defaultMinPartitions|RDDEMAGR/NDXEK
>>> rdd.map (lambda x: x+(x[1],x[0])) 33 RDD TTEHITRER >>> rdd.subtract (rdd2) SR[EI7E rdd2 BI&EILE 3R rdd
BEXS
.collect() .collect () 3
i1 [(a',7,7,'a"y, ('a',2,2,'a"), ('v',2,2,'b")] _ . [('b',2),(ra"',7)]
>>> rdd5 = rdd.flatMap (lambda x: x+(x[1],x[0]))| %S RDD FTRMITREL, >>> rdd2.subtractByKey (rdd) &[E rdd2 BRED (8, &)
>>> from pyspark import SparkConf, SparkContext AIPLER -collect() X, rddieRILEAYsE
>>> conf = (SparkConf () >>> rdd5.collect () redar, 1]
setMaster ("local") ('a',7,7,'a','a',2,2,'a','b",2,2,'b"] >>> rdd.cartesian (rdd2) .collect () |iR[E] rdd # rdd2 FYESE/RFT
. setAppName ("My app") >>> rdd4.flatMapValues (lambda x: x) REgZEH, X rdd4 IENREXT
.set ("spark.executor.memory", "1g")) .collect () 1T flatMap ERIER
55> sc = SparkContext (conf = conf) [(a','x"), ("a','y"), ('a','z"), ('b', 'p"), ("B', 'r")] P HE
{53 Shell WEAEEE >>> rdd2.sortBy (lambda x: x[1]) RAERHHF RDD
.collect ()
25K | ¥ TR FREX [(d',1),('b",1),('a',2)]
PySpark Shell 2473 SparkContext 827 &9 sc WEE o rdd.collect () REESFA RDD STEMFE >>> rdd2. so;EByIé%/ 0 ¥ HEFF RDDAVEERS
at, 1), (‘a', 2), ('b', 2 .collec
S ./bJ:.n/spark—shell --master local[2] , >>[(rcaid.ta;<e(2()a o )] 1Z2EYHTA RDD 7T [(‘a',2),('b"',1),('d",1)]
S ./bin/pyspark --master local[4] --py-files code.py [(ra', 7), (‘a', 2)1
A3 —-master ZH0&E Context T EIM Master fR5328, BIEEES DIE tra', 7 {SEYEAA RDD 7o E5X
e N = ; P i =
FIRZE --py-files Z¥i0 Python.zip. .egg =k .pyX#F % Runtime B&4%, >>[ (fg?'tgff 2 )( At 7] AU 7t >>> rdd.repartition (4) HE—T 2419 X8 RDD
e ;2), . >>> rdd.coalesce (1) % RDD AH 9 X 4811
Dﬂﬁ?ﬂ?& >>> rdd3.sample (False, 0.15, 81).collect () |iR[E] rdd3 HIRIFEFE
[3,4,27,31,40,41,42,43,60,76,79,80,86,97 T%ﬁ
#*’fﬁ'%é Pipad e >>> rdd.saveAsTextFile ("rdd.txt")
>>> rdd.filter (lambda x: "a" in x) fii3%E RDD >>> rdd.saveAsHadoopFile ("hdfs://namenodehost/parent/child",
>>> rdd = sc.parallelize([('a',7),('a',2),('b"',2)]) . .(7:§>ll(ect()2) ] 'org.apache.hadoop.mapred. TextOutputFormat ')
>>> rdd2 = sc.parallelize([('a',2),('d"',1), ('b',1)]) ta', 7, (tal, N
>>> rdd3 = sc.garallelize(range(lOO)) >>> rdd5.distinct () .collect () iR[E] RDD EMME—E Aif S KC
>>> rdd4 = sc.parallelize([("a", ["x","y","z"]), ['a',2,'b", 7] . EAS arkContext
P ("b", ["p", "r"1) 1) >>> rdd.keys () .collect () iR[8] RDD {EXTEAYHE P
['a', 'a', 'b'] |>>> sc.stop () |
—— G
5
57 textFile() EIBMHDFS, AHIX T4 Hadoop SR e
BIREU A, FfHEA wholeTextFiles() ER#REN B R E XA 1o S35 rdd. foreach (q) JoFF S RDDREE R |$ ./bin/spark-submit examples/src/main/python/pi.py
(ra', 7)
>>> textFJ:.le B sc.textFile("/my/directory/*.txt") | ('b', 2) DataCamp
>>> textFile2 = sc.wholeTextFiles ("/my/directory/") ('a', 2) }fiyf’ﬁ% Peam Python folDataS clencaInteraetely
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